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I. Liability Formula: ACT + MR + ADD’L STATUTARY REQS  RESULT W/O AFFIRMATIVE DEFENSE = GUILT
a. General: This formula provides that if (1) defendant voluntarily committed an act or acts prohibited by statute (or in some instances omitted to act in a legally critical respect) (2) with the mens rea required by the statute, (3) under any additional circumstances required by statute, (4) and thereby caused any required result, (5) without evidence supporting an affirmative defense, then defendant should be found guilty.
b. Actus Reas: Voluntary Act Requirement
i. Rule: Criminal liability requires that a defendant commit a voluntary act that is conscious, uncoerced, and not the result or reflex/convulsion. It may be an affirmative act or an omission to act where there was a legal duty to act.
ii. Affirmative Act
1. If there is a verb in the statute, that implies an act and that act has to be voluntary
2. The law presumes that any act is voluntary, either conscious or habitual, as long as it is not a result of coercion, unconsciousness, or reflex/convulsion (MPC sec. 2.01(2)
3. Not voluntary:
a. Physical coercion
i. Martin v. State - Defendant was forcibly taken from his house by police and dragged to a highway where he was arrested for being drunk in public - NOT a voluntary act
ii. Defendant’s friends spike his drink without him knowing. Defendant gets very drunk and loud but refuses to leave restaurant. Defendant voluntarily manifested a drunken state but did not voluntarily get drunk.
b. Unconsciousness 
i. EX) Sleepwalking and hypnosis
ii. People v. Newton - defendant shot a police officer, claimed he was shot in the stomach and knocked unconscious before he pulled the trigger. Court held this was NOT a voluntary act
c. Reflex/Convulsion
4. Habitual Act:
a. HYPO - An off duty officer who always carries a gun goes to family court for a personal matter where it is illegal to carry a gun. They notice that she has a gun. Her excuse is that she always carries a gun, and wasn’t thinking about it at all, she was unconscious that she had the gun on her at the time. 
i. This is not really unconscious. Habitual counts as a voluntary act. You learn a habit, therefore, you can unlearn a habit.
iii. Decina Timeline
1. Where is the union of act and mens rea?
2. Liability to an involuntary act by pointing to an earlier act that was voluntary and consciously knowing the risk of harm.
a. Start driving  Accident
3. HYPO - If D had epileptic seizure while driving and hit pedestrians, D should have known about the risks while being behind the wheel. If it happens in this timeframe, you can say that even if the moment of manifestation is involuntarily, it is so closely tied to the voluntary act that it makes the whole thing voluntarily.
4. HYPO – D likes to drink and goes out with friends and has bunch of drinks. Even though vomiting isn’t voluntary, it is closely tied to the voluntary act of drinking so it makes the whole thing voluntary. 
iv. Omission to Act
1. Rule: Must be a voluntary omission to act where there was a legal duty to act and the defendant had the capacity to act.
2. VOLUNTARY FAILURE TO ACT + LEGAL DUTY TO ACT = VOLUNTARY ACT
3. Basic Duties to Act
a. Statutory
b. Immediate family/status relationship
c. Contractual
d. Assumption of care/rescue
e. Responsible for causing original harm
4. Jones v. United States - Case of baby dying from lack of care. We know that she physically could take care of the baby and failed to. D was not guilty because he did not have a legal duty to care for the child. 
c. Mens Rea: Culpable Mental States
i. Mens rea refers to the requirement that to be convicted of a crime, a person must have chosen to act badly, not just act in a way that produced bad results.
ii. Four basic issues must be addressed: 
1. What mens rea term or terms the offense includes
2. The standard definition of each mens rea term
3. What element(s) of the offense each mens rea term modifies and how
4. Whether the accused can be shown to have acted with the required mens rea on the facts given
iii. Model Penal Code MR – higher MR will suffice to satisfy lesser MR requirement
1. Purpose
a. Actor has a conscious object (desire, aim, intend) to achieve a certain result or engage in certain activity
2. Knowledge
a. Actor is substantially certain that his conduct will cause a particular result
3. Recklessness
a. Actor has actual awareness of a substantial and unjustifiable risk and consciously disregards that risk
b. 3 components:
i. Awareness (conscious disregard);
ii. Of a substantial risk
iii. That is unjustified (no overriding social necessity for the risk-taking) 
c. Analysis: suggested sequence 
i. Assess level of risk-taking by D (objective dangerousness)
ii. Assess justification for D’s risk-taking, if any
iii. Assess D’s awareness of risk facts (risk facts = facts that indicate danger in the situation)
4. Negligence
a. An actor should have been aware of a substantial (gross deviation from standard of care of a reasonable person) and it is unjustifiable
i. Only objective mens rea
iv. Common Law MR Terms 
1. Regina v. Cunningham – D tore gas meter off the wall to steal money inside, gas seeped through the wall, almost killing a neighbor. D did not act maliciously (malicious meant intending harm not “wicked”)
2. Regina v. Faulknor – D tried to steal rum from a ship, lit a match, set the ship on fire and destroyed it. D did not act maliciously. 
a. Heightened culpability – Sometimes if D acts with culpability for lesser crime and harm of a greater crime results, then he has guilt of the greater crime 
3. Translating into MPC
a. Steps:
i. Identify the common law MR term
ii. Establish the meaning of the term in statutory context
iii. Translate into MPC term
b. Maliciously = purposely, knowingly, recklessly
c. Willfully = purposely, knowingly, recklessly
d. Wantonly knowingly or recklessly
v. Statutes and Mens Rea
1. Steps:
a. Identify MR term, if any
b. Define the MR term (determine its usual stand-alone meaning)
c. Determine what element(s) in statute the MR term applies to and how it applies
d. Determine whether the evidence shows that D acted with the required MR
2. Examples:
a. NY Statute for Burglary: “Knowingly entering or remaining unlawfully in a building with intent to commit a crime therein…when the building is a dwelling”
i. Knowingly – applies to “entering or “remaining” (you obviously have to know that you are entering or remaining) AND to “unlawfully” (should know that your entering or remaining was unlawful to be liable)
ii. Intent (purposely) – applies to “with intent to commit a crime therein”
iii. Different ways to interpret “dwelling” element:
1. Strict liability that it was a dwelling
2. Knowledge that it was a dwelling
b. Statute making it a crime to “maliciously destroy the property of another”
i. Maliciously = purposely, knowingly, recklessly
ii. Maliciously obviously applies at least to destroying the property
iii. What about “of another”?
1. Strict liability to “of another” – not likely that the legislative intent was to punish someone who destroyed property that they honestly believed was theirs
2. Maliciously should also apply to “of another” – defendant must have had knowledge, purpose, or recklessness as to the property belonging to someone else
c. “Whoever purposely receives stolen property valued at more than $1,000 is guilty of a felony.”
i. Purposely – applies to receiving property
ii. Knowingly – applies to knowing that it was stolen
iii. Value – strict liability 
vi. Mistake of Facts
1. Rule: Mistake of Fact is a valid defense when the mistake negates the necessary mens rea for an essential element of the offense.
2. Regina v. Prince – D took out Annie Phillips (aged 14) without her father’s will. She told him she was 18 and he believed that she was because she looked older. D found guilty.
a. There is no question about whether or not D took the girl, the question is whether his belief of her age (mistake of fact) excused his actions and the court ruled that it did not. There was nothing in the language of the statute that dictates that D must actually know the correct age of the victim (strict liability)
3. People v. Olsen – D had sex with 13yr old girl, claimed she had invited him into her trailer and that she told him she was 16 (mistake of fact). D found guilty. (Strict liability statute designed to protect young children)
4. Garnett v. State – D, 20yr old mentally disabled man with an IQ of 52, came to the window of a 13yr old girl, who told him she was 16. She invited him in and the 2 proceeded to have sex. She ended up pregnant and having his baby. Mistake of age is no defense. D found guilty. 
5. Analysis: 
a. Did D’s mistake relate to an essential element of the offense that required MR?
b. If so, did the mistake negate that MR?
6. MR translation:
a. If D is charged with violating a statute that has:
i. Subjective MR (purpose, knowledge, recklessness)  excused for any honest mistake regarding that element
ii. Objective MR (negligence)  excused for honest and reasonable mistake regarding that element
iii. Strict Liability  No mistake of fact defense
b. Examples:
i. A sells B a $10,000 bracelet for $500. B is an undercover police officer who discovers that the bracelet has been stolen. A is charged with knowingly selling stolen property. A claims that she was given the bracelet by an old lady who she thought was rewarding her for helping her cross the street. 
1. Knowingly = any honest mistake 
2. A honestly believed that she was the rightful owner of the bracelet because it was given to her as a gift
ii. Boy and Girl meet at a party. They have both consumed a considerable amount of alcohol but Boy is much less affected because he is a big football player. Boy invites Girl to his room. When Boy starts unbuttoning Girl’s shirt, she makes a groaning noise and shakes her head. Boy doesn’t stop and grabs Girl sexually. Boy is charged with sexually assaulting a non-consenting victim with knowledge, recklessness, or negligence as to the victim’s non-consent. He claims that he believed Girl consented.
1. Negligence is minimum mens rea required here = honest and reasonable mistake
2. Boy may have honestly believed that Girl had consented but a reasonable person would have known that Girl shaking her head indicated non-consent
iii. Ruth is a 75-year-old woman who is a very careful driver. She takes her car in for service to fix the speedometer. The mechanic tells her that the speedometer has been fixed. Later, Ruth is pulled over and given a ticket for speeding. She finds out that the mechanic had incorrectly set her speedometer.
1. Speeding has no mens rea requirement and is a strict liability offense = no mistake of fact defense
2. Even though Ruth honestly and reasonably believed that she was not speeding, she will still be liable.
vii. Strict Liability 
1. Rule: Strict liability offenses require no proof of mens rea (defendant can be found guilty if he simply committed the act)
a. Designed to protect public welfare by deterring risky behavior and reduce cost of litigation by avoiding prosecution having to prove mens rea 
2. Elements:
a. Statutory language
b. Types of offense (history is part of a family of offenses)
c. Inherent notice of wrongdoing or risk in the prohibited conduct
d. Cost-benefit analysis of requiring MR
3. Morisette v. United States – D, a junk dealer, entered an Air Force practice bombing range and took spent bomb casings that had been lying there for years. He flattened them and sold them at a city junk market for a profit. He was convicted of knowingly converting government property. D not guilty because it was not a strict liability offense. Public welfare offenses are strict liability.
4. Staples v. United States – D possessed a rifle which originally had a metal piece that precluded automatic firing, but at some point, it had been filed down. He was convicted of violating the National Firearms Act. Not guilty because strict liability shouldn’t apply. 
5. US v. X-Citement Video – D distributed a visual depiction of a minor and were convicted for violating the Protection of Children Against Sexual Exploitation Act of 1977. 
6. State v. Baker – Cruise control feature on his car malfunction and accelerated. He was convicted of speeding. He didn’t need to using this feature. Speeding is strict liability offense. 
viii. Mistake of Law 
1. A person aware of a law but misinterprets its meaning or doesn’t know that such a law exists at all
2. 2 basic principles: individual fairness v. certainty of criminal prohibitions
3. How do you distinguish between Mistake of Fact and Mistake of Law?
a. A mistake of law has to involve a specialized knowledge of law
b. A mistake of fact deals with common knowledge
4. General Rule: Ignorantia legis non excusat  Mistake of law is no excuse
a. Mistake of Law negates MR necessary for the crime
i. Mens Rea regarding lawfulness
1. If there is an MR attached to an element of lawfulness, D must know that his conduct is unlawful. If not, that is a mistake of law.
a. How should this be interpreted in statutory context? 
b. (1) 	MR required only re those facts that make D’s conduct unlawful OR
c. (2) MR required re facts that make defendant’s conduct unlawful AND MR re particular law that makes defendant’s conduct unlawful 
2. EX) “Whoever knowingly violates… federal regulations is guilty…”
a. This requires at minimum knowledge of the nature of the conduct that the regulation prohibits, and
b. Knowledge that this conduct violates the law
3. Regina v. Smith - D was charged with violating the Criminal Damage Act for damaging some wall panels and floorboards in order to retrieve stereo wiring he had earlier installed (with landlord’s permission) behind the wall panels and floorboards he had constructed himself. Crime requires that defendant know the property belongs to another (not a crime to destroy your own property). D thought property belonged to him so he did not have the necessary mens rea for the offense
4. State v. Varszegi - D was the landlord to a commercial tenant that had missed payments. Lease had default clause. He went to the office and took 2 computers acting pursuant to the lease’s default clause. Tenant called police, they instructed to return computers, D sold computers instead and was convicted of theft. There was a MR element to this statute. He did not have the subjective awareness that he didn’t have the right to take the computers. 
5. Cheek v. United States - D was a pilot for American Airlines. He was convicted of willfully failing to file federal income taxes for a number of years. His defense was that 1) he believed that his wages were not taxable therefore he didn’t need to file taxes and 2) tax laws were unconstitutional. 
6. Rule: If D’s honest belief contradicts a required MR element of an offense, D must be acquitted regardless of whether his belief was reasonable. 
7. HYPO - In an effort to stop the laundering of money from drugs and other criminal enterprises, federal law requires that all cash transactions of $10,000 or more in the US be reported to the US government. A new federal law prohibits structuring cash transactions into amounts of less than $10,000 to avoid the federal reporting requirement; any willful violation of this law is a felony. Required MR: 
a. The transaction/s break the total amount of cash involved in each transaction into amounts of less than $10,000; and
b. that transactions involving cash amounts of greater than $10,000 must be reported to the US government; and
c. that deliberate evasion of the $10,000 reporting requirement via structuring into separate transactions of less than $10,000 is a crime.
b. Affirmative Defense
i. D relied on official statement of law that was later changed
1. Statement must come from an official authority such as a judicial opinion or attorney-general (NOT a police officer or lawyer)
ii. Inadequate publication of law
c. No defense for Strict Liability
i. People v. Marrero - D was a federal officer who was arrested for carrying an unlicensed weapon. He misinterpreted a statute exempting peace officers of “any state correctional facility or any penal correctional institution.” He was found guilty because this was a strict liability offense. 

II. Homicide 
a. Intentional Homicides
i. Premeditated Murder: Purpose to Kill + Premeditation
1. Rule:  Requires that D acts with purpose to kill and premeditation.
2. MR Elements:
a. Purpose to Kill: D acted with the conscious object to end the life of the victim
i. Smallwood – rapist with AIDs had no purpose to kill when raping. His purpose was only to rape so not guilty of attempted murder
ii.  Driver who shot into the car had purpose to kill because there is no other explanation for why you would shoot into a car
b. Premeditation: D reflected on the decision to kill. 
i. D took the time and care to weigh the consequences of the killing yet still kills, they demonstrate the highest degree of moral culpability and threat.
c. Analysis of Premeditation:
i. Carroll Approach: Don’t need much more than purpose to kill. 
ii. The time it took to make the decision and commit the murder is enough even if it’s a very short amount of time. 
1. Much easier to establish premeditation than other approaches
2. Gives ultimate call to jury
3. Commonwealth v. Carrol -  D had a fight with his wife. He waited 5 minutes, took a loaded gun that the kept on their windowsill and shot her twice in the head while she laid in bed. Court held that no significant time period is required between decision and action to establish premeditation.
iii. Guthrie Approach: Premeditation requires some period of reflection or calculation prior to the killing
1. More rigorous or demanding approach, must be more than just purpose to kill
2. Anderson Factors consider: 3 Factors courts consider
a. Timing/Planning
i. Significant gap in time between initial decision to kill and actual killing
ii. Calculation and reflection on the homicide proves strong evidence that D weighed he consequences of the deed
iii. Facts regarding the D’s behavior prior to the killing which might indicate a design to take life
b. Relationship/Motive
i. What D’s particular motive says about the reflectiveness
ii. Facts about D’s prior relationship with the victim which might indicate a reason to kill
c. Manner of Killing/Coolness of Defendant
i. How an actor kills can speak to reflectiveness
3. State v. Guthrie – D was snapped in the nose with a towel by a co-worker, grabbed a knife and stabbed the co-worker in the neck, killing him.  NOT premeditated murder bc there was no period of calculation or reflection prior to the killing.
ii. Unpremeditated Murder w/o Provocation: Purpose to Kill – Premeditation – Provocation
1. Rule: Requires D act with Purpose to Kill but no Premeditation or Provocation
iii. Voluntary Manslaughter: Purpose to Kill + Provocation 
1. MR Elements: Purpose to Kill + Provocation (Actually and Reasonably Impassioned)
2. Common Law Provocation: 
a. Rule: D acted with (1) murder mens rea (usually purpose to kill) while (2) greatly impassioned and the (3)passion was reasonable
b. Mitigates murder with purpose to kill to manslaughter but does not eliminate liability 
c. Rule: Defendant was actually and reasonably impassioned by the provoking incident
i. Actual provocation: high state of passion from provoking incident
ii. Reasonable provocation: Reasonableness of D’s emotions, not his actions. A reasonable person in D’s situation would have been similarly impassioned so as to be sorely tempted to kill 
1. Includes assessment of cooling off period
d. Analysis of Provocation: 
i. Categorical Approach: Preliminary determination by judge, the issue will not go to the jury for assessment of reasonableness unless the provocation fits into a specific category of provoking incidents:
1. Mutual combat (not widely recognized today)
2. Extreme assault/sexual abuse on defendant or a loved one
3. Discovery of spouse’s adultery
4. Words alone are NOT enough
5. Girourd v. State – D and wife had a strained marriage. They got into an angry argument. She told him that she had filed charges against him for abuse to his commanding officer and that he would be court martialed. The taunts continued and D took a kitchen knife that he had under his pillow and stabbed his wife 19 times, killing her. His provocation was not reasonable because it didn’t fall into one of the categories and words aren’t enough. 
ii. Discretionary Approach: Most determinations of reasonableness made by jury. They have more discretion and can look at all surrounding circumstances
1. Words alone MAY BE enough
2. Maher v. People – D followed his wife and another man into the woods. He was then told that she was having an affair with that man. D shot the other man, but did not kill him. He was not reasonably provoked because he didn’t see them in the act.
3. HYPO - Bill and his girlfriend are drinking at a bar. Bill’s girlfriend complains that another guy is staring at her. Bill confronts the man who laughs and insults Bill. Bill insults the man back, who then hits Bill over the head with a whiskey bottle. Bill is bleeding and stunned. 10 to 30 minutes later, Bill approaches the man and stabs him in the chest five times, killing him.
a. Purpose to kill? Yes, he stabbed him in the chest 5x
b. Actually provoked? Probably, he seemed upset with the man for staring at his gf and was certainly angry from his insults and attack with the bottle
c. Reasonably provoked? Yes, a reasonable person would have been similarly impassioned after being insulted and struck over the head with a bottle
d. Cooling off period?
i. No, the killing occurred right after he regained his senses and was likely still angry so that his sense of reason was blurred by his emotions
3. MPC Provocation: 
a. Rule: D acted with (1) murder mens rea and (2) under the influence of an extreme emotional disturbance (EED), (3) for which, there was a reasonable explanation or excuse.
b. Does not require any provoking incident – may be disturbed because of internal psychological process, not victim’s conduct
c. No timing requirement
d. Analysis: 
i. Establish that D acted under the influence of an extreme emotional disturbance
ii. Determine if that emotional disturbance was reasonable (from the viewpoint of a person in the D’s situation under the circumstances as he believed them to be)
e. People v. Casassa - After being rejected by a girl he dated, D began doing bizarre things such as breaking into her apartment to eavesdrop on her and lying naked in her bed. He finally showed up at her house and stabbed her in the neck killing her. Court held that D did act under the influence of extreme emotional disturbance but that it was so peculiar to him that it was not reasonable even for someone in his situation. 
i. Prosecution argument: Focus on objective element and argue that a reasonable person would not act like a defendant did, even in his situation (dealing with rejection)
ii. Defense argument: Focus on subjective element and argue that you must take D’s specific emotions into account because the analysis is from the viewpoint of someone in his situation under the circumstances as he believed them to be
b. Unintentional Killings
i. Depraved Heart Murder
1. Rule: D acts with recklessness as to the risk of death and displays extreme indifference to the value of human life
2. Elements: 
a. Recklessness (subjective)
i. D was aware of a substantial and unjustifiable risk and consciously disregarded it
1. Degree of risk
a. EX) shooting a gun into a crowd, dropping a heavy object from the top of a building into a crowd, Russian roulette 
2. Lack of justification of risk
3. Awareness of risk
b. Extreme indifference (objective)
3. People v. Protopappas – D was a dentist with his own practice. 3 of his patients died of drug overdoses after receiving a cocktail of anesthesia. D was guilty of depraved heart murder because:
a. Degree of risk: General anesthesia is very dangerous
b. Lack of justification: He could have administered lower doses. D could argue that he took on the very sick that no other dentists would touch.
c. Awareness of risk: He is an experienced medical profession who knew of the dangers and warned patients and staff. He argued that he was not aware. 
d. Indifference: He didn’t take sufficient steps in protecting patient’s safety once they were in danger. He had an ego and his goal was to make money.
4. United States v. Fleming – D was driving with a BAC of .315%. He was driving recklessly between 70 and 100mph where the speed limit was 45mph. He was driving on the wrong side of the road to avoid traffic. He drove this way for approximately 6 miles until he lost control and hit victim head on, killing her. 
a. This was depraved heart murder and not manslaughter because he was drinking so he lacked the awareness because he was inebriated. MPC accounts for this. We say that awareness is paramount in culpability but when intoxication is the reason, we don’t. So we handle without considering intoxication at all. By driving this way, D acted with recklessness as to the risk of death and displays extreme indifference to the value of human life.
ii. Reckless Manslaughter 
1. Argument for the defense in a depraved heart murder situation
2. Recklessness alone sufficient, no requirement of extreme indifference to human life
iii. Involuntary Manslaughter (Negligence)
1. Rule: Involuntary manslaughter requires that a defendant demonstrate gross negligence as to the risk of death, meaning that his conduct was a gross deviation from a reasonable standard of care.
2. Analysis:
a. Establish that a reasonable person would have been aware of the risk of death
b. Determine if D’s conduct constituted gross negligence (which involves more risk and less justification than ordinary negligence)
3. State v. Williams – D were guardians of 17m old baby. They baby became ill as a result of a tooth infection that led to gangrene and died. They were convicted of voluntary manslaughter for negligently failing to supply necessary medical attention. A reasonable person would have taken their baby to see a doctor seeing as how bad and how long their baby was sick for
a. They had reasonable warning facts and should have been aware of the risks
iv. Felony Murder
1. Rule: Defendant must have committed a qualifying felony and in doing so caused death.
2. Heightened Culpability:
a. Act w/ MR for lesser crime  Result of greater crime = Guilt for Greater crime
3. Qualifying felonies
a. Enumerated felonies: those designated by statute
i. Robbery, rape, arson, burglary
ii. People v. Stamp – D went in to rob business at gunpoint. Owner died of a heart attack that was triggered by robbery. He committed a statutorily designated felony and caused death in the process. 
b. Inherently dangerous felonies: not designated by statute
i. Must involve danger to human life in its definition and clear Merger Rule
ii. Merger Rule: (individual Distinction Rule) 
1. Felony must have an independent purpose from the killing itself – something beyond simple violent intent
a. EX) Robbery  Money, Arson  Fire, Rape  Sex
2. EX) Assault with a deadly weapon is clearly an inherently dangerous felony. However, when assault with a deadly weapon leads to death, the felony and the killing would merge, defeating the mens rea analysis. All killings with a deadly weapon would be felony murder.
iii. People v. Phillips – D, a chiropractor, told parents that he could cure their daughter from eye cancer without surgery, he was not able to do so and she died. D was not guilty of felony-murder because his felony of grand-theft (stealing money from the parents) was not inherently dangerous by definition.
c. Causing Death: Commission of the felony must cause the death
i. Proactive Act Doctrine: 
1. If felon committed felony in an especially dangerous way that was reckless as to a violent response by the victim, the felon will be liable for any death caused by that response
2. HYPO - D was waiting in the car while two co-felons robbed a liquor store, the storeowner shot and killed one of the co-felons. D found guilty of felony-murder for the murder of his co-felon
4. Felony Murder and Attempt
a. If death is caused, we have felony murder based on underlying felony or attempted felony
b. If felony causes near death of victim, there is no felony murder because felony did not cause death 
i. There is no such thing as attempted felony murder
5. Misdemeanor-Manslaughter
a. When death occurs in the commission of a misdemeanor
c. Hierarchy of Homicide Offenses – California
i. First Degree Murder
1. Premeditated Purpose to Kill
2. Enumerated Felony Murder
ii. Second Degree Murder
1. Purpose to Kill w/o Premeditation or Provocation
2. Depraved Heart Murder
3. Inherently Dangerous Felony Murder
iii. Voluntary Manslaughter
1. Purpose to kill (usually) plus provocation
iv. Involuntary Manslaughter
1. Gross negligence

III. Causation
a. Defendant’s wrongful acts must be both the factual cause and the proximate cause of the relevant harm (assuming proof of sufficient Act and MR by D)
i. Factual Cause
1. “But For” Test – But for the D’s conduct, would resulting harm have occurred?
a. Generally, very easy to establish
b. Doesn’t matter if others contributed
2. Substantial Factor Test – if there are 2 causes, see if D’s is a substantial factor
a. If either D made a significant contribution to the crime, then factual cause is met
ii. Proximate Cause
1. The act must bear a sufficiently close relationship to the resulting harm and must be foreseeable. 
2. The legal/moral relationship between Act, MR, and Result
3. Foreseeability Analysis: These are themes to use in analyzing, not rules
a. Predictability: statistical likelihood of the result occurring as a consequence of D’s chosen conduct
b. Normative Assessment: social judgement of the value/moral wrong of D’s conduct as compared with conduct of others who contributed to the result
4. Defense:
a. Defense will argue by being detailed and specific. They will include all of the events that happened after D’s act to show that the result was not foreseeable
5. Prosecution:
a. Prosecution will use broad, general terms to show that D’s conduct made the result very likely
iii. Transferred Intent
1. Intent to kill one person is transferred if it accidentally kills someone else
2. If D acts with required murder/manslaughter MR for death of victim A and causes death of victim B in same manner as anticipated for victim A, then D is guilty of same murder/manslaughter offense for death of Victim B as if he had killed Victim A
a. MR for Victim A transfers to Victim B
iv. Analysis: 
1. If D had required MR for the result AND for the manner of the result, then it’s an easy case for causation, do factual and proximate causation analysis quickly
2. If D had MR for result but the way in which result occurred was a surprise (beyond D’s MR), then do extended causation analysis
3. If D had MR for result for V1, but V2 Result occurs, and there is no manner of harm problem, use transferred intent to determine D’s MR
4. Easy cases:
a. Where proximate cause is not a significant issue
b. D acted with required MR towards death of victim and had the same MR towards the actual manner in which death occurred
5. Hard Cases: 
a. Where proximate cause is a real issue
b. D acted with required MR towards death of victim but did not anticipate (did not have the same MR toward) the actual manner in which death occurred 
6. HYPO – Frat house president has been warned about hazing that involves alcohol. Pledge drinks fifth of vodka in 90 minutes and passes out and dies of alcohol poisoning. 
a. ACT – hazing
b. MR – reckless – substantial, unjustifiable risk of supplying so much alcohol. He was informed so he knew the risk.
c. But for – But for the hazing, victim wouldn’t have died
d. Foreseeability – reasonably predictable that someone would die
7. People v. Acosta – D was fleeing from the police on a high speed pursuit. Police helicopters were circling above to track his movements. 2 helicopters collided resulting in the death of 3 passengers. D was charged with depraved heart murder.
a. Normative Assessment: D was the reason police choppers were in the air. They were cops doing their job and he was running from the cops.
8. People v. Arzon – D set fire to a couch in an abandoned building. Fireman was killed responding to a second independent fire that had broken out on another floor of the building. D is guilty of causing fireman’s death.
a. It was foreseeable that the fire department would respond and expose them to life-threatening danger, leading to a death
9. People v. Warner-Lambert – Employees of a chewing gum factory were killed in an explosion of two dangerous substances that the company had been previously warned about. D did NOT meet proximate cause test because there was no proof as to what particular spark triggered the explosion. 
a. Normative assessment is important here. There is a difference between the moral wrongdoing of Ds in Acosta and Arzon v. gum-chewing factory
10. Commonwealth v. Root – Two men were racing their cars on a public highway, one swerved into oncoming traffic in an attempt to pass and was killed by head-on collision. While it is predictable that an accident would occur, D did not proximately cause competing driver’s death because it was his own decision to swerve into the other lane (normative assessment).
11. State v. McFadden – Similar to Root (above), one lost control of his car and killed himself as well as an innocent 6-year-old passenger in another car. This time court held that D did cause both deaths.
a. Difference in normative assessment: Victim “getting what he deserved” in Root vs. innocent third party death in McFadden and need to hold someone responsible for that death
12. Commonwealth v. Atencio – D played a game of Russian roulette which resulted in death of one of the players. The outcome was predictable and social normative value of playing the game is very negative. D encouraged the risk taking so he’s guilty of manslaughter. 
IV. Attempt 
a. Compound Offenses 
i. (1) MR Requirements of particular form of inchoate liability (attempt, accomplice, conspiracy) + (2) MR requirements of underling offense (offense attempted) = (3) combined MR requirements for compound offense (attempt, accomplish, or conspiracy for particular offense)  
b. Defendant must satisfy the Act requirement and MR for the attempt
c. Elements: 
i. Act Requirement: 
1. Time Continuum of Attempt: Preparation ------------> Last Act
2. Common Law: Dangerous Proximity Rule
a. D’s act must have been dangerously close to the actual commission of the crime. Requires acts very close in time and space to the bad thing happening
b. How much did D have left to accomplish the criminal end? The more unfinished business, the less likely that sufficient act was committed.
c. Once person attempts to commit a crime, a crime has been committed. Gives courts incentive to set point late in the scheme to allow people to change their minds. They want to make sure their conduct actually demonstrates a crime. 
3. MPC: Substantial Step Rule
a. D’s act must have been a substantial step that was strongly corroborative of his purpose. All about mens rea and what that conduct says about the MR.
b. Establishes liability earlier in the continuum
c. Locus poenitentiae – Opportunity to withdraw before crime is committed
i. Must be voluntary renunciation of criminal purpose
4. Other Rules that can help establish Dangerous Proximity and Substantial Step
a. Last Step: Last thing a person could have done without actually committing the crime. It is the ultimate proof. 
b. Equivocality: Only looks at non-verbal conduct and can exclude highly probative verbal indicators of culpability 
5. Analysis:
a. People v. Rizzo – D and accomplices rode around in a car looking for a man to rob and were arrested before they actually found him. Court held that they were not dangerously close to the commission of the crime because they never found a victim.
b. United States v. Jackson – D and accomplices made plans for a robbery then rescheduled after a failed attempt, arrested when their car pulled up to the bank, police found masks, guns, other stuff in the car. They were found guilty of attempted robbery bc their conduct (planning, rescheduling, stuff in the car) was a substantial step in a course of criminal conduct and was strongly corroborative of their firm intent to commit the crime.
c. United States v. Harper - D set a trap in an ATM machine, planned on robbing technicians who responded, found by police waiting in a parked car next to the bank. Court found not guilty of attempted robbery because they had not done enough
ii. Mens Rea Requirement: (EX) homicide) 
1. Defendant must have purpose to accomplish the result  
2. Result Offenses
a. Defined: Offenses that have an explicit statutory requirement that to be guilty, the accused must cause a particular physical harm to person or property
b. MR: D must act with purpose to accomplish the result (attempt MR) + any other MR required for the underlying offense
c. EX) Homicide – Purpose to Kill
d. Smallwood v. State – D, who was HIV positive, raped 3 women without wearing protection. He was charged with attempted murder. Court held he did not act with purpose to kill. 
3. Conduct Offenses
a. Defined: Crimes that don’t require proof of physical harm to person or property – even if it occurs (based on statute)
b. MR: D must purposely seek to commit the voluntary act required for the underlying offense (attempt MR) + all other MR requirements of the underlying offense, if any, are unchanged
c. EX) Attempted possession of an unlicensed firearm
i. Purpose to Possess (MR for attempt)
ii. Knowing that it’s a firearm (MR element)
iii. Without required license (strict liability)
d. EX) Attempted Burglary: Whoever knowingly enters or remains unlawfully in a building with purpose to commit a crime therein
i. Purpose to enter or remain (MR for attempt)
ii. Knowing that entry is unlawful (MR)
iii. Purpose to commit a crime therein (MR) 
e. HYPO – Attempted Possession of Cocaine - D makes deal to buy cocaine over the phone. She goes to an alley with $5,000 to meet the dealer. The dealer approaches carrying a large bag. When the dealer is 20 feet away, a police car appears in the alley and the dealer runs away. She is caught and arrested for having a large quantity of cocaine in her bag. Can D be convicted for attempted possession of cocaine? 
i. Defendant had knowledge that the item she was going to take possession of was an illegal substance and acted with the purpose of gaining possession of the cocaine (through the phone call, going to the alley, and waiting for the dealer). 
f. HYPO – Attempted Dangerous Driving – Truck driver is driving a big rig down a hill. He knows that his breaks have been a little light but thinks that he can make the trip anyway. He is pulled over by the police who inspect the car and notice his breaks are near complete failure. Can D be convicted for attempted reckless driving? Statute: driving in an unreasonably dangerous manner (negligence)
i. D acted with purpose to drive and had negligence as to the dangerous manner of his driving because a reasonable person would have been aware of the danger.
iii. Defenses to Attempt
1. Abandonment: Can D commit an Act that meets the act requirement for an attempt but not be held liable because of his abandonment/withdrawal?
a. Dangerous Proximity Rule – NO
i. Sets act requirement late in time on the continuum so once it has been met, D can’t undo it.
b. Substantial Step Rule – YES
i. Sets act requirement earlier in the continuum so D still has locus poenitentiae
ii. Must be complete and voluntary withdrawal, not by police influence
2. Impossibility: 
a. Whether crime would never be successful under the circumstances
b. Factual impossibility: If facts were different than D believed, crime would have been committed. So long as D believed it possible to commit the crime.
i. Not a defense
c. Legal impossibility: Intent is in the mind - what D wanted to do would not have been a crime
d. MPC – Dealing with Impossibility
i. Identify the missing element – the part of the underlying offense that could not be satisfied because the actual circumstances were different than what D believed
ii. Do attempt analysis:
1. Act + MR for attempt of the offense +
2. For the missing element – If what D believed with respect to the missing element were true, would the missing element be satisfied? 
e. People v. Dlugash – D shot man 5 times who had already been shot and was lying on the floor for several minutes before D shot him. There was no proof that he was still alive at the time D shot him.
i. Missing element – victim may have already been dead
ii. Act + MR – Shooting victim 5 times + purpose to kill
iii. Hypothetical Reasoning – if victim was alive at the time D shot him, he would have died
1. Court ruled that because D thought he was alive, he was guilty of attempted murder
f. HYPO – Receiving stolen goods, knowing them to be stolen. Undercover cop sells “stolen” Rolex watch at steep discount. Can D be guilty of receiving stolen property when it’s not actually stolen? No, because it was not actually stolen. Can D be guilty of attempt? 
i. Act = Receiving property
ii. MR = Purpose to receive property while knowing it’s stolen
iii. Hypo Reasoning – He thought it was stolen so this is attempt to receive stolen property. He thought it was stolen and he was engaging in conduct to receive it. 
g. HYPO – Purposely shooting a deer, knowing it to be out of season. Deer hunting season starts in 1 week and D shoots at something he thinks is a deer but it is actually a stuffed deer. Has he committed the offense? No because it was a stuffed deer. Can D be guilty of attempt?
i. Act = Shooting
ii. MR = Purpose to shoot live deer & knowing it to be out of season
iii. Hypo Reasoning = D thought it was alive so this is attempt to shoot a deer out of season. Had it been a live deer like he thought, he would have committed the offense.
V. Self-Defense
a. Justification doctrine that legally exonerates the taking of human life as is viable
b. An affirmative defense and justification. It stands completely independently of all essential elements of an offense.
c. Rule: Defendant can use deadly force in self-defense when the individual honestly and reasonably believes that he faces an actual or apparent unlawful and imminent threat of deadly force or great bodily harm and response is necessary to avoid that threat. Force used must be proportionate to the threat of force.
d. Analysis: 
i. Honesty of belief 
1. Did D actually believe that there was a threat? Subjective
2. Prosecution would emphasize that D acted out of aggression/anger rather than fear.
3. Defense would emphasize any prior threats made on D to show that he really feared for his life
4. Mistake of belief 
a. Permitted only if there was an objectively reasonable basis for the belief in the first place
ii. Reasonableness of belief
1. Retrospective assessment of the threat posed by the victim. Objective
2. Regardless of how D perceived the situation, was it reasonable for a person in D’s situation to believe that the victim posed an imminent, unlawful, threat of deadly force?
3. You can consider D’s prior experiences
a. People v. Goetz – D was on a subway when 4 youths approached him asking for money. They had screwdrivers. He had been mugged before so he was extra scared. He shot the 4 boys.
iii. Imminent
1. Necessity – threat that appears on the verge of execution
iv. Unlawful
1. Subject to reasonableness analysis
2. Person starting the conflict is generally disqualified from claiming self-defense thereafter
3. EX) If police officer threatens to shoot a suspect, that is not an unlawful threat
v. Force used was necessary 
1. Force used must be proportionate to the threat faced
2. User must reasonably believe that he faces deadly force if he uses deadly force
vi. Deadly force
1. Force an individual uses to inflict death or serious bodily injury or with awareness that it is likely to cause death or serious bodily injury
2. Must be assessed in context
3. Simply brandishing a weapon may not be enough
4. Normally a punch or kick would be non-deadly force, but if being used against the elderly, it might be
5. Serious bodily injury includes kidnapping and sexual assault
e. Battered Women’s Syndrome (BWS)
i. Cycle: Tension building  Battering  Reconciliation that leads to learned helplessness  explains why some women in abusive relationships stay
ii. Syndrome evidence may be used by the jury to look at honesty and reasonableness. Gives layperson a broader perspective that can explain why she stayed and why she felt she had to do what she did. 
iii. Honesty:
1. Juries need to know this information because they don’t know the facts. Expert testimony is directly related to D’s credibility. Without it, D’s story won’t make sense to the jury because it contradicts common sense view of human nature.
iv. Reasonableness:
1. It doesn’t automatically say that it’s reasonable because of the syndrome, but the jury can consider it for reasonableness. 
2. Enhanced predictive abilities regarding violence
v. State v. Kelly – D was in an abusive relationship with her husband. Husband attacked her in public, D stabbed husband with scissors from her purse. Court allowed expert testimony on BWS. 
1. Different from Goetz because she had lived with him for 7yrs and knew him very well. Goetz couldn’t reasonably predict a mugging from a stranger because he had been mugged before. 
f. Hindsight perspective
g. Defense of others
i. Coming to the aid of someone else to prevent an attack would be justified in the same way
ii. You’re at risk of getting it wrong if the person you’re defending doesn’t have the right to self-defense
iii. Most jx have the reasonable perception rule – if you reasonably believe that there is a threat from your perception, it is covered
h. Reckless or negligent direction of defensive force
i. If mistaken, mistake must be reasonable because in emergency situations, a person is prone to make mistakes at no fault of his own.
i. Using self-defense that is warranted but hurting someone else in the process
i. Covers other victims because in an intense threat, you can’t be super careful
j. Imperfect Self-Defense
i. If D has an honest but unreasonable belief of an imminent and unlawful threat of deadly force, he may be convicted of voluntary manslaughter instead of murder
k. Retreat rules
i. Retreat Obligation
1. Innocent party is required to flee the threat of imminent danger when possible
2. Rule: An innocent party may not use deadly force to repel an unlawful threat of deadly force if that person is aware of a safe avenue of retreat from the threat
3. Triggered when:
a. It is an innocent party,
b. The party is contemplating using deadly force (does not apply to non-deadly threats),
c. The attack occurs outside the home.
4. Castle exception
a. Home is a sanctuary so if attacked in the home, no duty to retreat
5. Stand your ground statutes: True Man Jx have no retreat rule
6. State v. Abbott – D got into fight with next door neighbors. V came after D with a hatchet and carving knife. There was a question of whether D had opportunity to retreat and whether he had a duty to retreat because the aggressors came at him with deadly force. 
ii. Withdrawal Obligation
1. Aggressor’s use of force disqualifies him from using self-defense because their wrong originated the incident unless he takes actions to nullify the original aggression and diffuse the confrontation
a. Common Law: Traditional Aggressor Rule
By starting conflict, the aggressor remains the aggressor until he takes the necessary steps to renounce his participation and end the conflict by:
i. Renunciation – word and deeds
ii. Withdrawal – physical moving out of the confrontation even if it requires a hazard to the aggressor
iii. If no withdrawal, no right to self-defense. Some jx offer possibility of manslaughter liability here.
iv. HYPO - D who picks fight w/ V and shoves V against the wall. D is the aggressor here. V gets very angry and pulls out a knife. V becomes wrongdoer because he escalated to deadly force when the threat was non-deadly. D can’t use deadly force when V comes at him with a knife and use self-defense to justify that.
v. United States v. Peterson – D came out of his house and discovered V stealing from his car which was parked in the alley behind his house. They argued and D went inside and got a gun. When he returned, V was about to drive off and D threatened V. V got out of the car, grabbed a wrench and walked towards D. D shot and killed him. Court ruled that self-defense was not an available defense because he provoked a conflict and became the aggressor in it.  
b. MPC: Last Wrongdoer Rule: 
i. Original aggressor in the conflict may use deadly force in self-defense against wrongful (because excessive) deadly force by an original victim who has wrongfully escalated the level of violence
ii. Still liable for original aggression but doesn’t entirely preclude self-defense justification as an option
l. Law enforcement use of deadly force to arrest a fleeing felon
i. This is different from law enforcement’s authority to use deadly force in defense of self or others
ii. Law enforcement may use deadly force under the 4th Amendment to arrest a fleeing felon when the officer had: 
1. Probably cause the suspect committed a felony,
2. Probably cause that deadly force was necessary to prevent the suspect’s escape, and
3. Probably cause that the suspect posed a significant risk of death or serious injury to the police or others
iii. Tennessee v. Garner – Police officer responded to burglary and shot suspect in the back as he tried to escape. Court ruled it was unconstitutional for a police officer to use deadly force to stop an unarmed suspect from fleeing if suspect poses no threat of death or serious bodily injury to others.
VI. Voluntary Intoxication
a. Involuntary act is not a defense because they chose to become intoxicated
b. Questions – All about MR
i. Does the law allow D to argue that he lacked some form of MR required for the offense because of voluntary intoxication? 
1. Is an intoxication argument legally available to the D in the case?
2. Might this negate a particular MR required for the offense?
ii. If such an argument is allowed, will it work on the facts given?
1. Did D lack the particular MR because of intoxication?
2. Is this argument actually going to work?
c. Common Law:
i. Rule: Voluntary intoxication can be used to negate specific intent crimes but not general intent crimes
ii. Specific Intent Offenses
1. Commit an act with intent to do a further act or achieve a future consequence 
2. In addition to harmful conduct, you have additional MR required to show intent to commit a specific act
3. Examples:
a. Burglary: breaking and entering with intent to commit a crime therein
b. Larceny: unlawful taking of property with intent to deprive the owner thereof permanently 
c. Attempt: Act with intent to commit the offense
d. Inchoate offenses
e. Purpose to kill + premeditation 
iii. General Intent Offenses
1. Crime consists of intent to commit the particular act itself without reference to intent to do further act or achieve further consequence
2. Just defines the conduct and nothing else
3. Examples:
a. Breaking and entering: knowing or reckless unlawful entry into a structure
b. Rape: sexual intercourse by force and against the will
c. Depraved heart murder
d. Manslaughter 
iv. People v. Hood – D was drinking heavily and attempted to resist arrest. During struggle, he grabbed cops gun and shot him. Assault can be viewed as either specific or general intent offense so other things were looked at like the effect of alcohol to distort judgment engage aggressive and antisocial impulses. Evidence of his conduct should not be used to absolve him of responsibility. 
d. MPC: 
i. Rule: Voluntary intoxication can be used to negate purpose and knowledge in a statute
ii. It does not negate recklessness. D is assessed as if D was sober.
iii. The definition of negligence negates intoxication as an excuse because the reasonable person is sober and we don’t change the circumstances to the standards of an intoxicated person.
iv. HYPO – Guy gets dumped by his gf, drinks, yells about wanting to hurt her, then sees her and throws rocks at her. Purpose to do great bodily injury? 
1. Question 1: Yes, you can make an argument that purpose is negated by intoxication
2. Question 2: He yelled about how he wanted to hurt his gf and alcohol disinhibited his desires and made him fulfill them. Therefore, it does not negate purpose. 
v. HYPO – He sees his ex gf with her friends and yells “heads up” and starts throwing rocks of his roof. He thought it was funny. Purpose to do great bodily injury?
1. Question 1: Yes, you can make an argument that purpose is negated by intoxication
2. Question 2: You can argue that he wasn’t trying to hurt anyone, he just thought he was being funny. An alternative reason other than purpose to do great bodily harm exists – being funny. 
vi. HYPO – Guy is drinking celebrating a football win. He throws a chair off a roof and hit someone. Reckless endangerment?
1. Question 1: No, MPC excludes recklessness from MR that is able to be negated. In a sober state he would have been aware of the danger of throwing chairs off a roof when there are people below. This is how we view the MR even though he wasn’t aware because he was intoxicated.
2. Question 2: It might work because you can argue that he wasn’t aware of the dangers of his conduct. This is exactly the type of careless conduct we don’t want to excuse by intoxication. 
e. D might say “but for intoxication, the D would not have done what he did” but we’re nto talking about the change in character, we’re talking about a much narrower look at MR.
f. Loss of memory does not indicate no MR. The law doesn’t care if D blacked out. 
g. Alcohol is a social dis-inhibitor. You end up doing what you wanted to do that you wouldn’t normally do sober. It is an aggravator of violent behavior. 
h. Framing the question of MR:
i. Because of intoxication, did D have the mental capacity needed to act with the required MR? (Defense likes this framing)
ii. Does D’s intoxication change our view of whether he actually did the act with the required MR? (Prosecution likes this framing)
i. Involuntary intoxication: If D become involuntary intoxicated, D could argue no voluntary act. 
VII. Insanity
a. Affirmative defense to be made at trial to avoid conviction
b. Distinct concepts:
i. Mental illness: medical term used by clinicians to refer to a disorder for the purposes of diagnosis and treatment
ii. Competent to stand trial: Refers to D’s mental state at the time of legal proceeding. Anyone can raise this defense (judge, prosecutor, defense attorney). Trial requires a rational process by which we determine certain facts and make certain judgements. 
1. A person who lacks sufficient mental capacity to understand or participate in the relevant legal proceeding is deemed incompetent (to stand trial or enter a guilty plea or be sentenced or be executed)
2. Dusky Rule Test: To have a fair trial in accord with due process, D must be able to:
a. Understand the nature of the proceedings, and 
b. Assist counsel
c. M’Naghten Rule for Insanity:
i. Because of mental disease or defect
1. A law question, not a medical question
2. McDonald Test:
a. D suffers from abnormal mental condition that
b. Substantially affects mental or emotional processes, AND
c. Substantially impairs behavioral controls
3. APA Test: 
a. D suffers from severely abnormal mental condition, that
b. Grossly and demonstrably affects reality testing (and is not drug induced)
i. Usually requires a break with reality 
ii. Stricter than McDonald because it requires severe abnormalities
ii. D does not know the nature or quality of his action, OR
1. The physical nature of what he was doing, physical cause and effect
2. Only in the metaphysical sense is this ever true
iii. Does not know that his act is wrong
1. Moral or legal wrong. All of the action is here. 
iv. M’Naghten’s Case – D had hallucinations and drove to kill the prime minister. Mistakenly killed his secretly instead. He had purpose to kill and premeditation but he had a break with reality and was legally insane. 
v. HYPO - Guthrie case where the victim hit the D’s nose with a towel and he stabbed him. McDonald Test: 1) He suffers from an abnormal mental condition. 2) He thought the smacking of his nose was a really big deal, way bigger deal than a normal person would. It affected his mental or emotional processes. 3) Because he had this bizarre thought process and feelings, he was unable to control his behavior and resorted to stabbing the victim. APA Test: 1.) it’s out there but not severely abnormal. A lot of people suffer from depression and have parts of their body they’re unhappy with. 2) He’s not living in a different world.
vi. HYPO - Cassasa case – McDonald Test 1) He suffers from abnormal mental condition. 2) He’s not thinking straight because he’s holding on to the connection and emotionally devastated. 3) This condition is behind the way he has behaved. APA Test 1) Not severely abnormal, a lot of people have OCD and have problems dealing with rejection. 2) He did not have any delusions, he was living in the same reality, he just didn’t want to let go.
vii. State v. Guido – D killed her husband. She was examined by psychiatrists and they concluded she had anxiety but that it wasn’t a disease in the legal rule. But the emphasis is on the D’s state of mind as a result of the disease not the disease itself.
viii. State v. Green – After years of suffering from mental illness, he killed a police officer.  He left a note at the scene which the FBI tracked to him. Psychiatrists testified that he was insane at the time of the killing but the jury rejected the insanity defense. This was a cop killing case. He was acquitted on appeal.
ix. Yates v. State – After years of suffering mental illness, D drowned her 5 children because she believed she was saving them from the devil. 
x. Joy Baker – 
1. Voluntary Act – No coercion. There were 2 shots. The action is in the 2nd shot.
2. Purpose to Kill – 1st shot, maybe not but 2nd shot definitely
3. Premeditation – no time to reflect by both Carroll and Guthrie standards
4. Causation – Death occurs in the exact way that she intended with the purpose to kill. Shooting someone causes death
5. Affirmative defense – insanity 
6. Who is Joy baker? What did she do and why? Best facts? Worst facts? Why? Other key players? What story do you tell? What legal arguments do you make? A theory that pulls this case all together. 
xi. Burden of Proof: we start off the case presuming sanity. If D wants to bring evidence of insanity, the burden of proof is on D to show a valid defense.
xii. Burden of Persuasion: In the past it was on P to disprove the defense’s insanity plea and prove that D was actually sane. Now the defense has the burden of persuasion to show that D is actually insane.
VIII. Rape
a. Rule: Sexual act by force or threat of force and without consent of the victim. 
b. Extrinsic force jx (Maryland)
i. Sexual act, AND
1. Intercourse or other penetration
ii. Victim non-consent OR victim incapable of consent and D has notice of incapacity, AND
1. Against the will of the victim OR
2. Victim unconscious or mentally incapable
iii. If victim capable of consent, sexual act by force or threat of force
1. Direct physical force OR
a. Sufficient to preclude or overcome victim resistance
2. Threat sufficient to cause reasonable fear in victim
a. Precludes or overcomes resistance
iv. State v. Rusk – D and victim met at a bar, D asked for a ride home and when they arrived, took victim’s keys and told her to follow him inside. Victim testified that D lightly choked her during sex and would not return the keys until after they had sex. D said it was consensual. Court held that although victim did not physically resist, she had a reasonable fear of great bodily harm.
c. Non-Extrinsic Force jx (California)
i. Sexual act, AND
1. Intercourse or other penetration
ii. Non-consent, AND 
1. Against the will of the victim
iii. Where the victim is incapable of consent and defendant has notice of incapacity, OR
iv. By force or threat of force
1. Direct physical force, OR
a. Sufficient to preclude or overcome resistance
2. Threat sufficient to cause reasonable fear OR
a. That precludes or overcomes resistance
3. Sexual act where D reasonably should have been aware of victim non-consent
a. Just the physical force needed for the sexual act 
b. D must have sufficient notice of victim’s non-consent and that his proceeding with the sexual act demonstrate disregard for victim’s autonomy
c. Negligence to non-consent – no conviction if D honestly and reasonably believed he had his partner’s consent
d. Jury believes who tells the more convincing story. 
IX. Accomplice Liability
a. Terminology
i. Principal (primary actor) – the party who, with the required MR for the offense, commits the criminal act
ii. Accomplice (secondary actor) – with the required MR for accomplice liability, encourages or promotes the principal’s criminal act
b. 4 ways to be criminally liable for the conduct of another
i. Causation in homicide 
1. EX) Atencio, Russian roulette 
ii. Direction of an innocent or non-responsible actor
1. EX) owner of a dog instructing the dog to attack
2. EX) 2 friends go into store. 1 friend tells the other he was hired as security consultant and to take something as a test. He gets arrested or theft. He lacks the MR for theft so the friend that instructed him would be liable for the instructions. 
iii. Conspiracy
iv. Accomplice (aider and abettor)
1. Common Law Basic Requirements of Accomplice Liability
2. Rule: D must have done an actual act of promotion or encouragement and had the purpose to encourage the primary actor’s crime. 
3. Elements: 
a. 1) D acts to promote or encourage the primary actor’s offense (act of promotion or encouragement)
i. Whether D acted in a way that might have the effect of encouraging or promoting another’s crime
ii. Act: words, gestures or deeds
1. Mere presence at the crime scene may be sufficient if there is prior agreement concerning potential aid
a. Hicks v. United States – D was present when the killer shot the victim. D told victim to “take off his hat and die like a man.” D was not guilty because no evidence that there was a previous agreement. 
b. HYPO – D hears that Rowe set out to kill his old enemy and goes along to enjoy the spectacle. There is purpose but no act. He’s done nothing to encourage.
c. HYPO - D hears that Rowe set out to kill his old enemy and goes along to enjoy the spectacle. While watching Rowe’s assault, he shouts “go get him!” There is act and purpose so he would be liable. 
d. HYPO - D hears that Rowe set out to kill his old enemy and goes along to make certain Rowe succeeds by helping him if necessary. There is purpose and presence but no prior agreement.  
e. HYPO - D hears that Rowe set out to kill his old enemy and goes along to make certain Rowe succeeds. D tells Rowe that he will help him if necessary. There is purpose, presence and prior agreement so he would be liable.
f. State v. Gladstone – Police informant tried to buy weed from D. D didn’t have any so he suggested that informant purchase it from Kent, he gave him address and drew a map. Informant purchased weed from Kent. There was no evidence of any communication between Gladstone and Kent. He was charged as an accomplice to Kent selling weed. Purpose is very important here because he acted with purpose for informant to buy weed, not for Kent to sell weed. If they had a prior agreement it would be different. 
2. If there is a duty to intervene, omission to act would be considered encouragement 
a. EX) Security guard purposely leaving his post allowing a break-in to take place
3. Promote: provide principal with concrete assistance in the criminal deed. Aiding or facilitating the principal’s criminal conduct. 
4. Encourage: instigating, provoking or abetting the principal’s criminal conduct 
5. Sufficiency: Any encouragement is sufficient 
b. 2) Mens Rea
i. With purpose to encourage the primary actor’s offense (MR)
1. Promote with the understanding that the principal will seek to act with the purpose to cause the result 
ii. Shared MR required for the substantive offense
1. Purpose and knowledge offenses: the accomplice shared the principal’s purpose or knowledge MR with respect to the crime
a. EX) making false papers for a buyer of a fake antique for him to sell for a profit
2. Reckless and negligence offenses: the accomplice shared the principal’s recklessness or negligence towards the other aspects of wrongdoing required by the offense
a. EX) Encouraging reckless driving by a cab driver
3. Strict liability offenses: Secondary actor must know that the offense of the primary actor was illegal. Requires higher MR than principal.
a. EX) hiring an illegal immigrant. It is strict liability offense to illegally work. If employer knew of her status and that it was illegal, he would be an accomplice. If he did not, he would not be.
b. Wilcox v. Jeffery – American musician comes to England to play a concert. It is a strict liability offense for non-citizens to play for money. D buys ticket to concert and attends (act). He knew that it was illegal to play the concert so he was an accomplice. If he was there to protest it would be different because then he wouldn’t be encouraging. 
4. MPC:
a. Rule: D can be found liable as an accomplice if he encourages or attempts to encourage the crime with the purpose to encourage the crime. 
b. Same as common law except attempt to encourage or promote is sufficient for an act
i. EX) D sending email to encourage principal but the email didn’t go through so principal never go the encouragement and committed act anyway. D’s attempt to encourage is sufficient act of encouragement. 
c. Attempt Liability for would be accomplice
i. If accomplice meets both act and MR but the principal does not actually commit the anticipated crime, the accomplice is liable for attempt to the anticipated crime 
5. Attorney General v. Judge Tally – Skelton followed Ross to a nearby town to kill him. Judge Talley found out that someone had sent a telegraph to Ross to warn him so he sent a telegraph to the operator telling him not to deliver the telegraph. Operator did not deliver the message. He was guilty of being an accomplice even though he did not directly encourage Skelton because his aid made it easier for the crime to be committed even though the crime may still have been committed without the aid.  
a. HYPO – Telegraph operator had disregarded Judge Tally’s telegraph and had tried to deliver the warning but was unable.
i. MPC: This attempted encouragement would have been sufficient for an act. 
ii. Common law: The act was the telegraph and that was ineffective therefore there was no act so no accomplice liability
b. HYPO – Telegraph operator followed the judge’s instructions and did not deliver the warning, but the pursuers never succeeded in catching up with their intended victim.
i. MPC: Doesn’t matter that crime did not take place, still liable. 
ii. Common law: Even though there is MR and a fairly significant effort to encourage, there was no crime so no liability. 
c. HYPO – if the pursuers did catch up, but were effective resisted by their victim 
i. MPC: There is act and purpose and it doesn’t matter if the crime was committed so he would be an accomplice to murder. 
ii. Common law: There was act and purpose so he would be accomplice to attempted murder. 
6. Unplanned Offenses
a. When a different crime ends up committed than was originally planned
b. D encourages primary actor to commit crime A. Primary actor commits crime B. Is D liable as an accomplice to crime B?
c. MPC: Strict MR Approach
i. Rule: D is only liable for crimes which he had the purpose to encourage the secondary actor
ii. HYPO – illegal sale of handgun to someone that says they need protection from a known enemy. Buyer uses the gun to kill the enemy. Can seller be liable for murder or manslaughter? Under the MPC, no because the seller had no purpose that purchaser murder someone. 
iii. HYPO – D tells his friend about an empty home to burglarize. His friend shows up and the maid is home. D is arrested for accomplice to burglary and kidnapping. Under MPC, D is not liable for kidnapping because he did not have purpose to promote that crime, only the burglary. 
d. Common Law: Natural and Probably Consequence Doctrine
i. Rule: An accomplice who is liable for assisting an anticipated crime, will also be liable for unanticipated crimes, if these are deemed the natural and probably consequences of the anticipated crime. 
ii. Elements: 
1. D did Act & MR to be accomplice for crime A
2. Primary actor commits crime B
3. Crime B was reasonably foreseeable consequence of encouraging crime A
iii. People v. Luparello – D told friends to get information on his ex gf “at any cost” and his friends killed a man after he wouldn’t give him any. D was guilty because death of a mean was reasonably foreseeable consequence of him telling his friends to get information at any cost. 
iv. Roy v. United States – Miller approached D to buy a handgun. D referred him to Ross who took him to another area and gave him the gun then took the gun back and robbed him. Ross said he was avenging Miller’s earlier stickup of his friend. D was charged as an accomplice to the robbery but it was overturned on appeal because a robbery was not in the ordinary course of events. 
v. HYPO – Illegal sale of handgun to someone that says they need protection from a known enemy. Buyer uses the gun to kill the enemy. Can seller be liable for murder or manslaughter? Under the common law rule, maybe because he knew that there was a chance that he would use the gun to kill the known enemy.
vi. HYPO - D tells his friend about an empty home to burglarize. His friend shows up and the maid is home. D is arrested for accomplice to burglary and kidnapping. Under common law, D could be liable for both because it is foreseeable that someone would be home at the time. 
X. Criminal Procedure and Policy
a. Punishment
i. Theory: 
i. Deterrence: Holds that perpetrators should suffer punishment in order to – and to the extent needed to – discourage the commission of further criminal harms and thus produce the greatest good for the greatest number. 
1. Specific Deterrence: Punishment designed to prevent the particular offender from reoffending
a. EX) 1 night in jail for a youth offender would scare him from committing another crime
b. Incapacitation: punishment which prevents defendant from committing crimes against society for the duration of the punishment (incarceration)
c. Rehabilitation: use the state’s coercive powers to change the offender’s outlook and behavior so that he will be a constructive member of society and not commit crimes
2. General Deterrence: Punishment aimed at dissuading persons other than the offender from committing similar crimes in the future
a. One’s punishment will scare off others
3. Utilitarian theory: Purpose of law is to augment total happiness of the community and exclude everything that may subtract from it (exclude mischief). But punishment is evil and upon the principle of utility, it ought only to be admitted if it promises to exclude some greater evil.
a. Maximize happiness and minimize pain. Punishment inflicts pain so it should only be used if it prevents greater pain.
1. Main Consequentialist moral reasoning: The key to what you should do is what will happen as the result of your action
2. Efficiency: The best punishment is that which most efficiently, meaning the least amount of punishment, addresses criminal harms
ii. Retribution: Punishment is deserved to the extent of the wrong done by the offender. Wrongness is measured according to the nature of the harm done and the nature of the wrongdoer’s choice. Looks to the past for its judgments.  Penalty given needs to proportionately match the wrong, regardless of whether or not society will receive good consequences.
1. Nonconsequentialist moral reasoning: Punishment is just what it is deserved according to the wrong done by an offender
2. Opponent of Utilitarian Theory: All persons should be valued for their ability to choose for themselves. This requires we take their choices seriously, we should reward the good choices and punish the bad. 
iii. Expressive Theory: Bridges gap between deterrence and retribution by justifying retribution in a different way.  We punish to the extent deserved because a concrete practical good comes of the punishment.  Mix of deterrence and retribution – it’s good for society overall to use punishment as an outlet for condemnation of the criminal, the power of retribution is itself utilitarian for society
iv. Restorative Justice: An alternative approach to the criminal process that emphasizes crime as a violation of community relationships rather than rules.
v. United States v. Jackson - Upon being released from prison after serving time for 2 bank robberies, D robbed another bank. He was arrested again and sentenced to life in prison without the possibility of parole. 
1. Pro Prosecution
a. Specific deterrence: Past penalties have not sufficiently stopped him from robbing banks. He needs additional penalties to deter him – potentially lifelong incapacitation. His acts are potentially very dangerous to the community. 
b. General deterrence: Other repeat offenders for serious crimes will be deterred by seeing Jackson’s life sentence without parole. It sends a message to other career criminals. 
2. Pro Defense
a. Specific deterrence: After a lengthy prison term of 20 years, he would be far too old to commit future robberies so that is a sufficient sentence. The cost/benefit of older prisoners: the actual cost of incarcerating the older prisoners is very high and the benefits are very low because the likelihood of them reoffending is lower because the age of offenders falls off.
b. General deterrence: If a 15-year sentence is not effective for deterrence, a life sentence is not likely to be an effective deterrence either. 
b. Burden of Proof
i. Prosecution has the burden of proof for all essential elements of the crime
1. Act, MR, Additional Circumstances, Result 
ii. Defense usually has the burden of proof for affirmative defenses
1. Self-defense, insanity) 
c. Burden of production v. persuasion 
i. Prosecution has burden of production and persuasion for all essential elements of the crime
ii. Affirmative Defenses/Special Circumstances
1. Defense has burden of production. Once they’re produced self-defense or provocation theory, prosecution has burden of persuasion to prove beyond a reasonable doubt that there was no self-defense or provocation
2. Defense has burden of production and persuasion for insanity theory
iii. Patterson v. New York – D killed ex-wife’s new bf and tried to raise EED defense at trial. As an affirmative defense, the burden of persuasion rests on the defense. 
d. Role of Jury
i. Constitutional Rights: The right to a trial by jury is a fundamental right designed to protect from overzealous prosecutor and biased judges
1. Duncan v. Louisiana – Black man convicted of battery without a trial. Court ruled this was unconstitutional. 
ii. Jury Nullification
1. Juries can acquit for any reason they want 
2. Courts do not tell juries they have this right
e. Legality and Vagueness
i. No punishment without the law
1. Fair warning: Individuals know the conduct that could subject them to prosecution
ii. Control discretion of police, prosecutors and juries
iii. Legality Principle: criminal law must have its source in the legislature not the courts
1. McBoyle v. United States – D was convicted of transporting an airplane that he knew was stolen, violating the National Motor Vehicle Theft Act. He appealed on the grounds that an airplane does not fall into the categories listed in the statute. 
a. Seems to presume that this means land-vehicles. Legislature needs to be a little clearer. Holmes says they won’t fill in the holes because ultimately, that’s making new laws. 
iv. Vagueness: The legislature has an obligation to be clear in its laws
1. City of Chicago v. Morales – Ordinance prohibited loitering in public places but was ruled unconstitutionally vague because it failed to provide sufficient notice to citizens regarding the type of conduct prohibited and fails to provide adequate guidelines for law enforcement. 
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